Managoment
ssssss

© MoseTINe

CROSSPRO

PROTECTIOnN

P&E&RARARTS

[

CROSSPROD

LUGGAGE RACK
Ref.: 2CP2220087

WWW.Crosspro.pt



ASSEMBLY INSTRUCTION / INSTRUCAO DE MONTAGEM LUGGAGE RACK X

> 20 CROSSPRO

> 30 N.m (TORQUE)
ACO /STEEL| INOX English:
27 08 Attention: Follow the installation sequence as you can see in the photos.
;i 157 * Photo A: Remove original screws tagged in the photo.
E 79 * Photo B : Mount Luggage Rack like the assembly instruction.
47 14 Tight all screws.
80 24
T25/T30 @ Portugués:
Atencédo — Seguir a sequéncia de montagem que pode ver nas fotos.
._-0 * Foto A: Remover parafusos de origem marcados na foto.
* Foto B: Montar Luggage Rack como a instru¢éo de montagem.
_ 10mm Apertar todos os parafusos.
45mm 4
Francais:
ﬁ zupme ge Eagagemj tuggage 2“‘; i; i Attention: Suivre le séquence de photos d’assemblage.
rti . . s e s T ,
m S:'iz poon B:ZEZE /L::::: o T n « Photo A: Retirer les vis d’origine indiquées sur la photo.
9 |casquilho Aluminio / Aluminum Bushing 320x@9x7,5mm RPP12x2,5 2 * Photo B: Monter Luggade Rack comme les instructions de montage.
8 |Casquilho Aluminio / Aluminum Bushing P20x@7x15,5mm RPP10x5,5 2 Serrer toutes les vis.
7 Casquilho Aluminio / Aluminum Bushing ?22xP9IX50mm 1
6 Porca Freada / Nut Nylock M6 - DIN 985 4
5 Anilha Aba Larga / Large Washer M6 - DIN 9021 4
4 Paraf. Cabega Conica Sext. Int. / Hexagon Socket Countersunk Head Cap Screw M8x70 - DIN 7991 1
3 Paraf. Cabega Conica Sext. Int. / Hexagon Socket Countersunk Head Cap Screw M6x20 - DIN 7991 4
2 Paraf. Cabega Redonda Sext. Int. c. FA / Round Head Screw With Washer False M8x30 - 1SO 7380 2
1 Paraf. Cabeca Redonda Sext. Int. c. FA / Round Head Screw With Washer False M6x35 - ISO 7380 2
ITEM N2:|COMPONENTE (COMPONENT): DESCRICAO (DESCRIPTION): QUANT.:
ACESSORIOS (ACFSSORIES) ID.022.02 DATE: 22/11/2022




	Diapositivo 1
	Diapositivo 2

